SCHRAUBE M
B~ 4RET HANSAVFLEX

| _§:3

£ign R A RET

A DIN 912 (ISO 4762)

R¥ 4910.9 ...ISW... - L1 ]

RERP £8BHL

il i
© t=—=

&
B G L1 SW
(mm) (mm)
SCHRAUBE M 08-25 M8 25 6
SCHRAUBE M 08-30 M8 30 6
SCHRAUBE M 08-35 M 8 35 6
SCHRAUBE M 08-40 M 8 40 6
SCHRAUBE M 10-30 M 10 30 8
SCHRAUBE M 10-35 M 10 35 8
SCHRAUBE M 10-40 M 10 40 8
SCHRAUBE M 10-45 M 10 45 8
SCHRAUBE M 10-50 M 10 50 8
SCHRAUBE M 12-35 M 12 35 10
SCHRAUBE M 12-40 M 12 40 10
SCHRAUBE M 12-45 M 12 45 10
SCHRAUBE M 12-50 M 12 50 10
SCHRAUBE M 12-55 M 12 55 10
SCHRAUBE M 12-60 M 12 60 10
SCHRAUBE M 14-45 45 12
SCHRAUBE M 14-50 50 12
SCHRAUBE M 14-55 55 12
SCHRAUBE M 14-60 60 12
SCHRAUBE M 14-65 65 12
SCHRAUBE M 14-70 70 12
SCHRAUBE M 14-75 75 12
SCHRAUBE M 14-80 80 12
SCHRAUBE M 16-50 M 16 50 14
SCHRAUBE M 16-55 M 16 55 14
SCHRAUBE M 16-60 M 16 60 14
SCHRAUBE M 16-70 M 16 70 14
SCHRAUBE M 16-80 M 16 80 14
SCHRAUBE M 16-90 M 16 90 14
SCHRAUBE M 16-100 M 16 100 14
SCHRAUBE M 20-60 M 20 60 17
SCHRAUBE M 20-65 M 20 65 17
SCHRAUBE M 20-70 M 20 70 17
SCHRAUBE M 20-90 M 20 90 17
SCHRAUBE M 20-100 M 20 100 17
SCHRAUBE M 20-110 M 20 110 17
SCHRAUBE M 20-120 M 20 120 17
SW = XY Riis BT B
bk 303

SCHRAUBE M VZ

R TR iR oY B4+

FH (3000 PSI) SAEEZ ¥}
FH (6000 PSI) SAEZEZ¥Ep
VF (3000 PSI) SAEf#=
VF (6000 PSI) SAE£%E=

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
25.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



